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1. The two major types of computer chips are
A) External memory chip B) Primary memory chip
C)Both A &B D) None

2. ASCII and EBCDIC are the popular character coding systems. What does EBCDIC stand
for? )

A) Extended Binary Coded Decimal Interchange Code

B) Extended Bit Code Decimal Interchange Code

C) Extended Bit Case Decimal Interchange Code

D) Extended Binary Case Decimal Interchange Code

3. Storage capacity of magnetic disk depends on
A) Tracks per inch of surface B) Tits per inch of tracks
C) Disk pack in disk surface D) All of above

4. A storage area used to store data to compensate for the difference in speed at which the
different units can handle data is

A) Memory J B) Buffer

C) Accumulator D) Address
5. Computer is free from tiresome and boredom. We call it

A) Accuracy B) Reliability
C) Diligence D) Versatility

6. A Hybrid computer

A) Resembles digital computer

B) Resembles analogue computer

C) Resembles both a digital and analogue computer
D) None of the above

_ 7. Which type of computers uses the 8-bit code called EBCDIC?
A) Minicomputers B) Microcomputers
C) Mainframe computers D) Super computer

8. The ALU of a computer responds to the commands coming from
A) Primary memory B) Control section
C) External memory D) Cache memory

9. To produce high quality graphics (hardcopy) in color. you would want to use a/n
A) RGB monitor B) Plotter
C) Ink-jet printer D) Laser printer

10. Which of the following IC/ICs was/were used in third generation of computers?
A) SSI B) MSI
C) LSI D) Bothaand b



11. Pointing to a picture of a child Narendra says, "The brother of this child's mother, is the only
son of my mother’'s father." How is Narendra related to the mother of the child?

A) Daughter B) Sister

C) Maternal grand mother D) None of these

12. A lady pointing to a man in a photograph says, "The sister of the son of this man is my
mother-in-law." How is the husband of the lady related to the man in the photograph?

A Maternal grand son B) Nephew :

C) Son D) Maternal grand father

13. If P x Q means— 'P is the brother of Q', P =~ Q means 'P is the son of Q" and 'P — Q' means 'P
is the sister of Q' , then which of the following relations will show that Q is the maternal uncle of
o

A)QxR=P B)Q=R-P

OPxR-Q D)P+-R-Q

14. Pointing to a woman in a photograph a man says, "Her mother's mother is the mother of my.
father." How is the man related to the woman in a photograph?

A) Uncle ¥ B) Maternal cousin
C) Nephew D) Grand son

15. Pointing to a man Snehlata says, "He is the only son of my father's father." How is Snehlata
related to the man?

A) Mother h B) Grand daughter

C) Niece D) None of these

16. Introducing a man, a woman says, "He is the only son of my mother's mother." How is the
man related to the woman?

A) Uncle B) Father

C) Maternal uncle D) Uncle

Directions for Questions 17, 18, 19, 20—In each of the following questions one word is
different from the rest. Find out the word which does not belong to the group
17. ‘

A) BFD B) NRP
C) HLG D) QUS
18.

A) GTSH B) BYXC
C) ETUF D) LONM
19.

A) CEI B) QSX

(€) JLP D) QSW



20.
A)YZXVT B) SQOM
C) ECBA D) UHF

Directions—In following questions 21. and 22. a series is given. Which one of the alternatives
will replace the question-mark (?)

21.JD, KF, 7, PM, TR

A) MI B) NJ

C) NI D) OJ

22. HZF, IWH, KSJ, NNL, ?

A) SHM B) RHN
C) THN D) RGM
.23. The image formed in a compound microscope is

A) Erect B) Inverted
C) Sometimes erect, sometimes inverted D) None

24. The lens used in a simple microscope is

A) Concave B) Convex

C) Cylindrical D) None

25. The S. I. unit of refractive index is

A) Meter B) Cm

C) Watt D) No unit

26. Which of the following is not a primary colour

A) Red B) Blue

C) Green i D) Yellow

27. Which colour of light is deviated least

A) Red B) Blue

C) Violet D) Green

28. Which blood cells are called 'Soldiers' of the body

A) WBC B) Platelets

C) RBC D) All of the above
29. Which of the following is a non metal that remains fiquid at room temperature?
A) Phosphorous B) Bromine

C) Chlorine D) Helium

30. The gas usually filled in the electric bulb is
A) nitrogen B) hydrogen
C) carbon dioxide D) oxygen




31. Which of the gas is not known as green house gas?

A) Methane B) Nitrous oxide

C) Carbon dioxide D) Hydrogen

32. Bromine is a

A) Black solid B) Red liquid

C) Colourless gas D) Highly inflammable gas
33. The Homolographic projection has the correct representation of

A) Shape B) Area

() Baring D) Distance

34. The latitudinal differences in pressure delineate a number of major pressure zones, which
correspond with

A) Zones of climate B) Zones of oceans

(') Zones of land D) Zones of cyclonic depressions

35. The great. Victoria Desert is located in
A) Canada : B) West Africa
C) Australia D) North America

36. The intersecting lines drawn on maps and globes are
A) Latitudes _ B) Longitudes
C) Geographic grids D) None of the above

37. The landmass of which of the following continents is the least?
A) Africa B) Asia
C) Australia D) Europe

38. Which of the following is tropical grassland?
A) Taiga : B) Savannah

C) Pampas D) Prairies

39. With the disintegration of USSR in end 1991, comprised of Union Republics.

A) 15 B) 10

C] 5 D) 25

40. The greatest variety of animal and plant species is fund in

A) Temperate grasslands B) Tropical moist forests
C) Tundra regions D) In hot deserts

41. The layer of the earth, immediately below the crust, is called
A) Quter core B) Inner core
C) Inner mantle D) Outer mantle



42. The imaginary line on the earth's surface, which closely follows the 180 A° meridian, is
called the |

A) International Date Line B) Tropic of Cancer
C) Equator D) Prime Meridian
43. The largest gulf in the world is

A) Gulf of Mexico B) Persian Gulf

C) Gulf of Carpentaria ) Gulf of Manmnar

44. The name of the Laccadive, Minicoy and Amindivi islands was changed to Lakshadweep by
an Act of Parliament in

A) 1970 B) 1971

C) 1972 Dy 1973

45. The members of the Rajya Sabha are elected by
A) The people

B) Lok Sabha

C) Elected members of the legislative assembly
.D) Elected members of the legislative council

46. The members of the panchayat are

A) nominated by the district officer

B) the electorates of the respective tertitorial constituencies
C) nominated by local self-government minister ¢ f the state
DY nominated by the block development organization

47. The power to decide an election petition is vested in the
A) Parliament B) Supreme Court
C) High courts D) Election Commission

48. The present Lok Sabha is the i
A) 13th Lok Sabha B) 14th Lok Sabha
C) 15th Lok Sabha D) 16th Lok Sabha

49. The Parliament of India can make use of the residuary powers

A) at all times

B) only during national emergency

C) during national emergency as well as constitutional emergency as well in a state
D) None of the above

50. The number of writs that can be prayed for and issued by the Supreme Court and/or a High
Court is

A)3 B)4

C)5 D)6




51. The pension of a high court judge is charged to the

A) Consolidated Fund of India

B) Consolidated Fund of the state where he last served

() Consolidated Funds of the different states where he has served
D) Contingency Fund of India

52. The Objectives Resolution which laid down the main objectives to guide the deliberations of
the Assembiy was moved by

A) Sardar Patel B) Jawaharlal Nehru

C) K.M. Munshi D) B.R. Ambedka

53. The president can advance money to meet unforeseen expenses, pending authorization by.
Parliament, from

A) the Consolidated Fund of India B) the Contingency Fund

C) both the above funds D) None

54. Which of the following is part of Indradhanush plan to revamp banks?

[. It is applicable to both public and private sector to make them compatible to Basel I1I norms

2. An Independent authority‘Bank Board Bureau would be made under this plan

A) 1 only B) 2 only

C) Both D) None

55. Which of the following diseases are covered for vaccination under the Universal
Immunisation Frogram (UiP)7

a) Diptheria

b) Whooping cough

¢) Tetanus

d) Polio

A) Only a.c, B) Only b.d,f

C)Only C ' D) All

56. Which among the following correctly defines INDIGO? . |

A) Indian version of Laser Interferometer Gravitational Wave Observatory.
B) Indian space laboratory in Bangladesh

C) India Russia joint space venture

D) None of the above

57. Which of the following does not come under small savings schemes?
A) Sukanya Samriddhi Yojana B) Senior citizens savings scheme
C) Farmers deposit less than 10 lakh D) Monthly income scheme

58. An atomic clock is a clock device that uses an electronic transition frequency in the region
of?

A) Gama rays B) X rays

C) Micro wave D) None of the above



59. Which of the following is not a missile under integrated guided missile development

-programme?

A) Agni B) Dhanush

C) Prithvi D) Nag

60. Which of the following state does not share boundary with Myanmar?
A) Arunachal Pradesh B) Meghalaya

C) Manipur D) Nagaiand

61. Which of the following rivers are part of India’s first ever inter-state water linking project?
1. Ken

2. Mahanadi

3. Krishna

4. Betwa

A) 1,2and 3 B) 1,3 and 4
C) 1,4 only D) All

62. Who among the following is the nodal agency of the government’s ambitious Digital India
programme?

A) The Department of Electronics and IT  B) Ministry of home affairs

C) TRAI D) Telecom Ministry

63. Which of the following is correct regarding India’s renewable energy targets.
. India plans to make 175 Gigawatts by 2022

2. Of the target capacity, 100 GW would be from solar power.

3. 60 GW from biomass

A) 1,2 Bj)2.3

C) 1.3 D) All

Directions for Questions 64, 65, 66: Below are given the four alternatives, the word Opposite in
meaning to the word given in capitals.

64. LIVELY -

A) simple B) weal

C) dull D) moron
65. INADVERTENT

A) adequate B) available
C) sluggish D) intentional
66. INEPT

JA) accurate B) skilful

C) sensible D) artistic




Directions for Questions 67, 68, 69, 70: In each of the following questions, select from amongst
the five alternatives, the word nearest in meaning to the word given in capitals.

67. LETHAL

A) light B) dangerous

C) deadly D) cruel

68. CENTENARY

A) a guard R) a hundred years
C) a very old man D) hundredth anniversary

69. TRIUMPH
A) conquer B) smash
C) earn D) brave

70. Gigantic: :
A) Lump sum B) Strong
C) Little D) Huge

Directions for Questions 71, 72, 73: Read each sentence to find out whether there is any
grammatical error in it. The error, if any, will be in one part of the sentence. The number of that
part of the sentence is your answer. If there is no error, the answer is (5).

71. 1 am twenty two years old / when I first / joined the bank. No error
(A) (B) (C) (D)

72. To the Hindus the Ganga is / holier than / any other river. No error
(A) (B) ©) (D)

73. Of all the teachers in our school / our class teacher / were very strict. No error

(A) (B) (C) (D)

- Directions for Questions 74, 75, 76: Pick out the most appropriate word from amongst the
words given below each sentence to complete it meaningfully.

74 He guick]ly planeet oocaimssmmsss the book to find what it said about the Indian
economy.

A) at B) through C)in D) to

73. The counsel urged the court 10 ,.....cviemsinsisiine, down the obnoxious law.

A) enact B) enforce C) cancel D) strike

76. The local official .c..ooovveceeeenvieenns the Minister of the situation.

A) explained B) warned C) apprised D) told



Directions for Questions 77, 78, 79: Against each keyword are given some suggested meanings.
Choose the word or phrase which is nearest in meaning to the key word.

77. PRIVY
“(A) Dishonest ~ (B) Cautious  (C) Secretive (D) Quiet

78. PILFER
(A) To gossip  (B) Steal  (C) irifle (D) Loier

79. PLACID
(A) Clear (B)Calm (C) Enjoyable (D) Dull

Directions for Questions 80, 81: In each ol the following questions, choose the word opposite
in meaning to the given word.

80. BLATANT
(A) Noisy (B) Quiet (C) Barren (D) Slow

81. PRIM
(A) Rash (B) Extravagant (C) Foul (D) Shameful

Directions for Questions 82, 83, 84: In each of the following questions an idiomatic expression
/ proverb has been given, followed by some alternatives, Choose the one which best expresses
.the meaning of the given idiom/proverb.

82. To read between the lines—
(A) To concentrate (B) To read carefully (C) To suspect (D) To grasp the hidden meaning

83. To flog a dead horse—
A) To act in a foolish way = B) To waste one’s elforts
C) To revive interest in an old subject ‘D) To revive old memories

84. To pay one back in the same coin—
(A) To provoke a person to quarrel  B) To offer another polite attention
(C) To retaliate D) To give a,word a encouragement or praise (0 another

85. Largest city of Jammu and Kashmir
A) Srinagar B) Anantnag
) Leh D) Doda

86. Area rank of Jammu and Kashmir?
A) 14th. B) 12"
C) 13" D) 16"




87. Which country is to the west of Jammu and Kashmir?
A) Bhutan B) Nepal
C) Pakistan D) Thailand

88. Who bought Kashmir from the British?
A) Ranjit Singh B) Mahadaji Scindia
) Sayyajirao Gaekwad D) Gulab Singh

89. Who signed Jammu and Kashmir’s Instrument of Accession?

A) Hari Singh B) Sheikh Abdullah
C) Karan Singh D) Asaf Jah

90. Who was Jammu and Kashmir’s chief minister in 19837

A) Farooq Abdullah B) Ghulam Nabi Azad
C) Bhim Singh D) Muzaffar Beg

91. When was Kargil War?

A) 1965 ‘ B 1971

C) 1987 D) 1999

92. Who is recently appointed as J&K Chief Information Commissioner

A) Igbal Khanday B) Khursheed Ganai

C) Shanta Mainu : D) Parveen Ahmad

93, L also known as "Little Tibet", is renowned for its remote mountain beauty and
Buddhist culture.

A) Gulmarg B)Ladakh

C) Sonmarg D)Leh

94, State Animal of Jammu and Kashmir?

A) Mammal B) Kashmir stag

C) Red deer D) Barasingha

95. Who is the first Chief Minister of Jammu and Kashmir?

A) Hari Singh B) Syed Mir Qasim

C) Ghulam Mohammed Sadiq D) Sheikh Abdullah

96. Which of the following lakes of India is located in Jammu and Kashmir?
A) Phuljhar Lake B) Koleru Lake

C) Anchar Lake 2} Hamirsar Lake

97. Which is the official language of Jammu and Kashmir?
(A) Hindi (B) Punjabi (C) Urdu (D) Kashmiri



98. Which of the following District is called *Rice bowl of Kashmir
A) Anantnag B) Kulgam
C) Jammu D) Rajouri

99. The largest district in the state of J&K is?

A) Jammu B) Leh
.C) Udhampur D) Anantnag

100. What is name of Ist tribal village adopted by J&K Govt
A) Sinthan B) Habbi
C) Soaf D) Crawl
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